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1. Which one is not a layer of Microsporangium?

o1 & @ et AT 19T FeH AT T Teh T 61 82
a. Endothecium (Terafaae)

b. Epidermis (tfasfaw)

c. Middle layer (€I TX)

d. Outer layer (9T TRX)

2. What is the main function of Tapetum?
CHEH T HET Y 18?2
a. Protection (X&)
b. Nourishment (9T90T)
c. Secretion (&Td)
d. All of the above (3uRierc T8l

3. Hard outer layer of Pollen grain is made up of
ORISR hl STEY oI 3TTAR0T AT H & foraept 97 81T &7

a. Lignin (ferarfaer)

b. Cellulose (ReJeiTsT)

c. Sporopollenin (TRt foAeT)
d. Sugar (ET)

4. Type of flowers found in Commelina?
‘RIATAAT H FhE R T Io0
a. Cleistogamous (3fef=HTe)

b. Chasmogamous (3=HTdl)
c. Non flowering plant (37gsdT dre)



d.

Both a and b. (a 3T b &=

5. What is the function of Sertoli cells?

Hﬁ?ﬁaﬂ‘@wﬁwmwm:

a.
b.
C.
d.

Protection (gX&)
Nutrition (9TSOT)
Repair (FXFA)
Secretion (FdUT)

6. Which hormone is not produced during pregnancy?

SoTd O Tohd &THTT T FTT FITHT o GRTT oTal BIdT?

a.
b.
C.

d.

hCG (TT.€r.3M)
hPL (TZ.4T.Tel.)
Relaxin (RelfFae)
LH (Tel.Ta)

7. Diaphragm, Cervical Cap and Vaults are examples of
STASHIH, ITATLT G ST 94T dTec. 36T60T &

a.
b.
C.

d.

Surgical method (reatshar fafen)
Natural method (Tehfcieh fafen)
Barrier method (er fafen)
Chemical method ramrafaie fafen

8. What is the Genotypic ratio of Monohybrid cross?
Tehol HehY H SIAICISY 3fefdTel T GIaTT?

oo ow

1:2:1
3.1
9:3:3:1
9:6:1

9. Full form of GIFT
GIFT &T quT oATH:

a)
b)
c)
d)

Gamete intra fallopian transfer (3T S¢T hallfaaeT TAHY)

Gamete inter fallopian transfer (3T 3 el TrawH)

Gamete inter cellular fallopian transfer (& $eT AefeR Bl UTT TEW)
Gamete intra fallopian test (AT 3gT thell T ¢Te)

10. Which one of the following is an exception to mendel’s law

Hsdl & AT &7 319arE, ATt Ad H i g7



11.

12.

13.

14.

15.

a) Incomplete dominance (3ot yetfam)
b) Linkage and crossing over (foiohat T SHITHAT 371aR)

c) Co-Dominance (Hg J8TTfadT)
d) All (@sh)

An individual with a genotype SsTtUu will produce ........... gametes.

Selersy SsTtUu aTelT SaTad ......... JIAS I ScdTc T |
a)
b)

c)
d)

o 0B~ DN

Snapdragon exhibits...

EAYZIT Y TAd T g

a) Codominance (Fg93TTadm)

b) Incomplete dominance (3TqUT FeTTaaM)
c) Epistatsis (STEEA)

d) Pleiotropy (FCeraiterdm)

Kornberg’s enzyme is another name of

FIAIT TATSH I §H 58 ATH F o STt &
a) Ligase (STg3raT)

b) Primase (&)

c) DNA polymerase (31.UT.T. QTfeldAST)

d) None (7 & 15 Te1)

VNTR stand for....
(@10 8K, T G ATH SH TR ©...... )

a) Variable number of random repeat (3RTser s 31T {37 RiteH)
b) Variation number of random repeat (3RT2T &R 3% {3 RiveH)
c) Variable number of tandem repeats (dRTaer FaR 3% ¢35 Rivew)
d) Variable number and tandem repeat (3RTser FsR U3 &3 Rivew)

Which one of the following is an initiation codon?
e 3 & hleT AT FHe Teh TR FE &2

a) AUG

b) UAA

c) UAG

d) UGA



16. The coding sequence or expressed sequence in m-RNA, are defined as
(Teh m-RNA ST ST 37eshe Shgellcll 8)

a) Exons (cTFdh)

b) Introns (37cTdcieh)
c) Cistrons (FaEemT)
d) Positrons (dreiigie)

17. DNA dependent DNA polymerase catalyses polymerization in which direction?
3101 TR 3.0 T. A, SgehIenioT b1 e & 7 3cRd e &2
a) 3¥—-5
by 5—-3
c) Both Aand B (A 31X B &l=T)

d) None of above (3URTeFd H & HIS oTeT)

18. Transforming principle is given by...

T FAEHid ... & gaRT fgar R g
a) Mendel (H3o)

b) Morgan (HTIT)

c) Griffith (%)

d) Darwin (31fae)

19. Male and female bird has following set of chromosomes
X 3R e aferat & e foi@d & & Sl & ugd gld 87
a) ZZand ZW type (ZZ 3R ZW 9&R)
b) ZZ and ZO type (ZZ 3iR ZO 9&R)
c) XX and XO type (XX 31K XO WhR)
d) XY and XX type (XY 3R XX 9&R)

20. Which one is an example of false fruit...

et 7 @ it A1 BT, FAZAT Bt T T 351807 &2
a) Mango (3TH)

b) Guava (3H?QG)

c) Jackfruit (shcgel)

d) Apple (Fa)



21.

22.

23.

24,

25.

26.

What would be the ploidy of endosperm..
HOTAIY I JIfOTT HEAT 4T gaf?

a) 2n

b) 3n

c) 4n

d) n

In grass family, cotyledon is called

a1 IRaR A, 1997 F 5T ATH I T ST g |
a) Plumule (JTY)

b) Root cap (Fef )

c) Cotyledons (st 99)

d) Scutellum (FhHeea)

Antibodies are produced by....... .
wfciedl 310131t o1 ScuteT fehdreh SaRT foham STre 82

a) T cells (&1- FITAT)

b) B cells (. FIfrT)

c) Sertoli cells (Tefell AITASTT)
d) Mast cells (FTEC HifAHT0)

Which antibody is found to be present in Colostrum?
AW & et AT GfATed 3707 9T ST §?

a) IgA

b) IgM

c) IgE

d) 1gG

Allergy is related to which of the following?
srTRTare 3retfmaT vt o 9 R it &
a) Histamine (fgTeraATSe)

b) Serotonin (A=)

¢) Melanin (ReffaeT)
d) Bothaand b (a 3R b =)

Histamine is secreted by

feEcTATSs %1 919 fohae ganT glar 82
a) Granulocyte cells (ATATATSE HIFAHTT)
b) Dendritic cells (3318 SITAHTT)



217.

28.

29.

30.

31.

c) Phagocytic cells (378<hT0] ITRIHTT)
d) Mast cells (ATEC HIfARIT)

ELISA is a diagnostic test for which disease

“TTeIAT &1 AT feohdeh TT8TOT & ferw fehar Sirar 2
a) Malaria (FaR=m)

b) Cancer (&)

c) AIDS (TsH)

d) Typhoid (STIHIIS)

Contact inhibition is property of

(“ER HEHeT" 0T T HaeT Frad §7)
a) Normal cells (JTTHTT FIfAHIT)
b) Cancerous cells (FER FHIfAHIT)

) Macrophases (37&TehIUT)

d) Hepatic cells (g3 HIfAFIT)

Hallucinations is related to the drug

et 7 & foraes 3rcafees Ao & fasr fr Fufa der gy ashdr &2
a) Opioids (3NTU3MS3H)

b) Cannabinoid (FATIIATITSSH)

c) Coccaine (FIeheT)

d) Hashish (g2frern

‘Cirrhosis’ is related to

ereg ‘FAITAE 1 Hay Tt 7 & forad 82
a) Lungs (%%3.)

b) Kidney (geh)

¢) Brain (ATETSH)

d) Liver (I%d)

If the number of chromosome is 24 in root cells, then what will be the number of chromosomes in
Endosperm?

3R ST, SPRYRT & JORGAT hr TEAT 24 &Y it 0TI & JOTGHT T TEAT FT grafr?
a) 12
b) 24
c) 36
d) 48



32. Sickle cell anaemia is a (el T 3NTAAT §2)
a. Autosomal recessive (31ToIaT SRIFHEH 3TTHTEN)
b. Autosomal dominant (37folaT SRTATHTST FHTAT)
c. Sex linked recessive (Tol3T TgeTaaT 3TTHTAT)
d. Sex linked dominant (Tel9T EgeraeT T81Tdl)

33. If the number of chromosome in female bee is 32, then what would be the number of chromosomes in
male bee?

e ATST FEHFEY H JOTGAT T TEIT 32 g1, oY 7 FELHFEY H J[OTHAT T JT FT1 gIaf?
a) 32
b) 16
c) 8
d) 64

34. If a part of Endosperm retain in a seed, the seed is called

T T Toreat 3rafRIse T g, gl o
a.  Albuminous seed (Telgf&=Te o)

b.  Non-albuminous seed (IR Telgf&=Ta e
c. Perisperm (TR$foTAI)

d. Pericarp (e Tf)

35. Triple fusion result in development of
R-Forae [ # @ foraes [ara & @ g2
a.  Embryo (3f0)
b. Pericarp (et fRf)
c.  Endosperm (3{oTdi)

d. Zygote (JIHsToT)



